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Section 1 - Paperl-English Language
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1) Find the most appropriate oppos
OBEYING

A
B

c
D

Ordering
Contradicting
Following
Refusing

— - et e

2) Select the correct option.
Do you remember
the party last night?

person whom you saw in

3) Select the correct form of verb from the given options.
Brad his teeth before sleeping every night.

A) had brushed
B) brushed
C) brushes
D) has brushed

4) Find the most appropriate opposite meaning word:
HIRSUTE

A) Bald
B) Stubbly
C) Erudite
D) Furry

Read the passage and answer the questions that follow:

Rouge, also called blush or blusher, is a cosmetic for
coloring the cheeks in varying shades, or the lips red. Itis
applied as a powder or cream.The Ancient Egyptians
were known for their creation of cosmetics, particularly
their use of rouge. Ancient Egyptian pictographs show
men and women wearing lip and cheek rouge. They
blended fat with red ochre to create a stain that was red in
color. Greek men and women eventually mimicked the
look, using crushed mulberries, red beet juice, crushed

strawberries, or red amaranth to create a paste. Those
who wore makeup were viewed as wealthy and it
symbolized status because cosmetics were costly. In
China, Rouge was used as early as the Shang Dynasty. It
was made from the extracted juice of leaves from red and
blue flowers. Some people added bovine pulp and pig
pancreas to make the product denser. Women would
wear the heavy rouge on their cheeks and lips. In Chinese
culture, red symbolizes good luck and happiness to those
who wear the color. In Ancient Rome, men and women
would create rouge using lead Il, Iv (red lead) and
cinnabar. The mixture was found to have caused cancer,
dementia, and eventually death. In the 16th century in
Europe, women and men would use white powder to
lighten their faces. Commonly women would add heavy
rouge to their cheeks in addition.Modern rouge generally
consists of a red-colored talcum-based powder that is
applied with a brush to the cheeks to accentuate the bone
structure. The coloring is usually either the petals of
safflower, or a solution of carmine in ammonium hydroxide
and rosewater perfumed with rose oil. A cream-based
variant of rouge is schnouda, a colorless mixture of
Alloxan with cold cream, which also colors the skin red.

5) Now, Rouge is used to

A) accentuate the bone structure
B) highlight the best facial features
C) accentuate the chin

D) contour the face

6) In Ancient Rome, the use of lead based Rouge lead to

A) wealth
B) health
C) death

D) plague

7) Red ochre was used in Rouge by the

A) Greeks
B) Egyptian
C) Roman
D) Chinese

Techofworld.In
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8) Modern day rouge is a

A) blush

oeeecner [ @CHOfWOT]

D) highlighter

9) Which one of the following ingredients was used in
Rouge?

A) Pig pancreas
B) Tissue pigment
C) Red copper

D) Butterfly wings

10) What is the plural form of Marsh?

A) Marshss
B) Marshoes

? Marshos Techofwol

D) Marshess
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Section 2 - Paperl-Education and General Awareness
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11) National Talent Search unit and Survey and Data
processing unit are the units of which of the following
organisations?

A) Central Board of Secondary Education (CBSE)
B) National Institute of Education (NIE)

C) State Board of Teacher Education (SBTE)

D) Center for Advance Studies (CASE)

11) MYRAFIR GYEAS AF 9ET 6 A6E 18 6031 691623° GRe
FAPRIQ 696 AR 2°8 26T

A) 6QiR 69IE 2T 6ACRART IGERAR (AFIARQ)
B) cuiaein @e8gus 2T 1g6Rde (Y9 2I0R)

C) 636 6916 AT Fox Ig6RAR (1AETR)

D) 6q4q 0a ieard 967 (3-949aa)

12) Graphite and Diamond are the

A) isotopes of Carbon
B) isotones of Carbon
C) allotropes of Carbon
D) isomers of Carbon

12) QIS 6 210 6208

A) QIGQ Q ZIREAITY
B) @1aq @ 2IRsI63I]
C) QI9q Q 2EMIEFIY
D) Q199 @ 2IRsAIR|

13) Lodha Committee was formed to revamp and bring in
transparency in the administrative set-up of

A
B
c
D

Board of Cricket Control in India
Indian Olympic Association

Telecom Regulatory Authority of India
Election Commission of India

— e e

13) Q gaIQRa 629-2d 62 IRG! 2IETI B 63g6Q LI
21841 din 6R1I @FE Q08 AR |

A) 6QIg 2T 5605 R59IR A 82

B) adaic shdie 2eadas

C) coman cagenesial 6aIRE T agall
D) qenge af4e aT adal

14) With reference to vocational education, the Kothari
Commission emphasized upon the need of product
oriented education and necesssity of

A
B
C
D

Performing Arts
Peace Education
Citizenship Education
Work Experience

—_— e e e

14) dRIFRa S8 gAET, 6RI10IQ1 AFde Ao 2Gqs d91 Qe
2R 6R96R ZINSYIR0 691R JoQ 6ARCEM?

A) el gede
B) 4@ dsi

C) qIo@ee! dal
D) qidy a1@gs!

15) The National Policy on Education, 1986 and
Programme of Action, 1992 emphasized the adoption of
which of the following languages at the school level?

A) Any other foreign language
B) English language

C) Mother tongue

D) Regional language

Techofworld.In
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15) Q4 QUAFIR IRD &R IFEXAR, 1986 @ 69Ig)IA1 2T PR,
1992 QQYIRA 2A6Q 600 ANIQ Fe8 FeQI AR Je IS
QQEImI?

A) 2104 621819 Q641 QU

B) @eaie! Il TeCh OfWO r‘

C) aigaial
D) 21509 QU

JoinUs-' > f
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Section 3 - Paperl-Reasoning
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16) The number of chocolates with Geeta and Seeta is in 17) FerdIen 06@ SLIAINYSI F86Y 08q @8 Aad FaIARs |
the ratio 7 : 4. If Geeta has 15 chocolates more than

Seeta, then how many chocolates do they have il a’alglﬂaﬁ‘l 134y A 69Im Q@QI?L B9 956 Q@ 92|

Join Us-

altogether? QARIGEIER BRI FEH0IQ Ba 6a%IKIRelN | 908 fadg 9eg
9e° 0IU6a GAE Gag, FUKINYQl Gad AUQ 6946 ARIRYER
g; 22 @4I2I91 P2Q ARTNGR KRR R4 O NUES QAN *9F |
QY
C) 40 s _ _
D) 20 QQ &7IQ gew 60134
&% gaTda 9Ew eeIeal
- fad:
16) Q191 99° Q11 AIYER YR SERIEMTR AGAIR 7 : 4 | &
Qg FRceq Qlel Ol 2« 158 S6RIEmS 9F8 GIeaem | ) A9 6FI6Q §oR gIgTda |

£ACIAE GAGER 2al 6719 PERIEMT A°GI 6R6Q ?

17) Instruction: Below mentioned are two statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the motors are machines.
Some transformers are motors.

Conclusions:
1) All the motors are transformers.
Il) Some transformers are machines.

A) Both I'and Il follow

B) None of the conclusions follow
C) Only | follows

D) Only II follows

Techofworld.In

Il &8 gIRadia ga 6ade |

A) aea | 9e° Il 2908 96g

B) 6516@ § fadg 2I9dad fag A1
C) 6299 | 23904 909

D) emaw Il 29208 @99

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

All the black balls are blue balls.
All the blue balls are red balls.
Some red balls are white balls.

Conclusions:

1) Some black balls are white balls.
Il) Some white balls are blue balls.
I1I) All the black balls are red balls.
V) Some white balls are red balls.

A) Only lll and IV follow
B) Only Il and Ill follow
C) Only | and Il follow
D) Only | and IV follow
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18) F6E4IRT: 067 TUIAIRYSI F1SEY I8Q 78 Fad GRS |
298 FAULIRLRI FR9Yg A9 6RIR AIRRIQ Fe UQE Q@ el
QARIQGIER FENYRI SAI0IR B 6RYIARAN | AT Fadq 96
49° QID6R H9@ Qag, FuIKIRYSI Fad FIQ 626G ARINIER
FEIRIQ Q2R ALFINT @Rl Faayy 0] N6 AQPAAE 998 |
89y 49 onl 9N 960 6268 ¢1r anl | A9 1R 9 oW AR
QR | @8 QIR 9N Jow LG8 R Q4 |

= | echofworld.In

) @8 o7 On 6908 AR Q|
1) @8 R QN 626E 1% om |
) 99 @R oR gow 628 QIF am |

IV) @8 2191 R 622 oIk o |

A) 6292 Il 9&° IV 2908 93 |
B

C) 6man | 99 || 249908 @08 |

)
) 629% 11 4Q° 11l 29A0¢ @ag |
)
D) 6aa® 1 9e° IV 8g9ad @03 |

19) In a certain code language EARTH is written as
DCQVG. How is QUAKE written in that code language?

A) PWZMD
B) PVZLD
C) PTZJD
D) PVBJD

19) 9@ GG8 QAESEP QWEa EARTH § DCQVG 6@
EMSIIIRAN | 64T ABTER QISIea QUAKE q @ui smeiide™?

A) PWZMD
B) PVZLD
C) PTZJD
D) PVBJD

Techofworld.In

20) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
What is the Perimeter of the triangle ABC?
Statement | : Length of the base BC is 5 units.

Statement Il : Height of the triangle from base BC is 12
units.

>

o2&
BN oW

=)

20) Gendlen!: FORYe g46a
1 996 @0g U5 6aew (1294 | ALILIES J96 a8
FUIRAAPE |

2 996 90g, 98 6@9m (183 1| AL6LIGER 49 289 GaILR
AIQE |

3, 93 Q@@ | 9e° || A26RIFER J4a 289 AR AT |

4, 93 949 Q09 669 & FAIKIR A@e QIF |

ABC a9 aa 6a68 ?
(1894 | : BC 699 Qo0 626 5 €69 |

A2Y |1 : BC 609 0Ig 8999 @0l 12 984 |

2ee2
BN oW
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21) Which of the following teaching models can be termed 23) Which of the following satellites was launched on 30
as 'Expert'?

August 1983 with modified advanced technical
equipments for the use of educational broadcasts through

A) The one where the teacher is in possession of all television in India?
knowledge and expertise within the classroom

B) The one where the teacher is in a position of power A) Satellite INSAT-1B
and authority over the entire class B) Satellite Aryabhatta

C) The one where the teacher operates under personal C) Satellite Bhaskara
model style with an emphasis on demonstration and D) Satellite INSAT-1A
modelling

D) The one where the teacher demonstrates to students
how to access and comprehend information ~ b o i
23) G608 12IQ 69% QUYL QINEER EERRFE A1IKIFER A&
gQRgea QIeTIa FF168 J0eEe QeT 6FUle QUeed 4
21) GRS FUQ 689 TG F69R § 'T6ATR ' QLIIR ANQR? 1983 2618 30 GIAEI6Q ME SRUAINSMI?

A) 6Q0I6Q 6IR0IER V@ 65411 NGER IS VIF B FeATRE! A) aage aqaIg-1B
Q 2R1P6Q AFAUIB B

B) 6a0i6a 6060160 d8@ A°g4l 99 @60 98 8 2R R 8F

60 Q@eld

)
) QUge aIies
C) aage a1z

)

D) aage agag-1A
C) 620160 69R016Q 490 9e 8 FI6EAR AT6A 681Q 65Q!

QTP QPGS F165M 631 2e0e A0 @5aIE
D) ca0iea cad0ica d5 916 Al 49FI ILEIRT 6 q&ala gﬁé::‘l;wost of the learners in Heera's class are weak she
@ @ 96de *QaIR
A) advice them to take extra coaching

)
B) stop bothering about weak students
22) Which school of thought can we associate Gandhiji C) teach at their pace with needful strategies

A) Idealism
o) Redlen 24) 9@ PRIG 6941RAER AyArd T AI0ARIER QI
C) Existentialism = -
_ 6069 64 A4 @@ Q99 ?
D) Pragmatism
A) 6aqIeg 2669 6aI6° AR TRIE Jug
22) GIiReiw S et @Faa Q80 2160 69a oIag 6AIG B) g% 81gg 67 G3IA0QI 92 99
QaQI ? C) saqiee 20! 29AI6R 2INdia QaIN 80 R 998
: D) &ng Qeig 6 Q10456 669 @03
A) 2106Q1Q T f I I
sewee | €CNHOTWOrld.IN
C) 2@aei@
D) galcicie
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25) In Force field analysis, when the proposed change is
to incorporate student-centered learning, which of the
following is the restraining force, if the favouring force is,

'Students tend to help each other and learn to work
together'?

A) This may induce casual behaviour among students

B) Students are actively involved in
consequently, more learning takes place

C) This shall not deliver the expected outcome in the
given time frame

learning;

D) School does not have materials needed to implement
student-centered activities

25) 6@ 688 F6496169, @YI21-675 SNI6a 6666w 61T
Q9Iae 0Reeeq AIY FAIAN, 9§ Ade QAR 8 6998
FQUIEIFIER Je9aq ALY KeF 6 FRAd @I QG dea’,
606 F6aRI RQAQI 48 GG 6a0G?

A) qgl Fuglinies AU6a A3 FAag TINQI B 96 *aal
eLIR AIdald

B) Gouigiinien dgisa A9 @Iee 2°%6ged @9F; QI Fial
ee SR 28l 621N

C) wgl G2IQIRES AL AIF AU6R 2l FAUAIRIYS TRITR
669 QIZ

D) QQuieh-6ag% TARRIAGER RIY K6 AR INIRER
Aag1 9IE

26) Self-realisation or unfolding of the potential within a
child is an educational aim described under

A) Democratic view
B) Idealistic view

C) Totalitarian view
D) Naturalistic view

26) dal ARG G06R a9 FASI 218 , AIRIR 217 631 & gee
@01 693 AcaEN 26T

A) sriaeae 98y

B) ziadqiar gay

C) 2G10ea121 Q8616
D) gigGe ga

27) The world's first dedicated educational satellite
"EDUSAT" that is launched in India at Sriharikota is
basically meant for

A) Classroom Education

B) Practical Education

C) Administrative Education
D) Distance Education

27) QIAS6a IRARISIOR A8 621R9el §9a gan ande
638@ QUYL "N’ 64100 MY R

A) sgan amll

B) quegiae S
C) gaiade dal
D) ga dal

28) With reference to teaching in a cross-cultural context,
'Low-context cultures' are
A) informal

B) higher sections of the society

C) lower sections of the society
D) fomal

28) QU-ANCAN ANNER TFINQ AW, 'CA-FEIFT
ANCAYSR" caaE

A) 26rlagiee
B) ariea ag 26
C) acga §¢ @
D) Gaciae

29) Which of the following reports came out in 2007 listing
out various recommendations to control ragging and
bullying in schools and colleges?

A) Raghavan Committee Report

B) Ramachandran Committee Report
C) Ravichandran Committee Report
D) Radhakrishnan Committee Report

Tachofwaorld In
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29) 2007 6Q FeFkIQ 604 A6AI6 AITR 6IAY6R FAURA 6
ALIRNIRAIER6Q ATF *ARI B P6QARIF FARE F0QI AR
PR 9UIRE QAULIREMI?

A) QIRe] 9T Q6AIS

B) qiregqe @66 Geale TeCh OfW‘

)
)
} —
)

O

QReLR KFT Q6T

-

QARIFAR AT Geale

30) A child who is prone to negative activities like fighting,
stealing etc may be called

A) delinquent

B) over achiever
C) gifted

D) bright

30) Q100 K99I, 691Q KAQ! AT ARG FINGRIVYRR
doa 9@ daig @8 QLIKIRdIeq ?

A) 291 TeC h OfW‘

B) 216101Q 2@ 219RRIa!1
C) saia1
D) aga

JoinUs-' > f
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31) 69 602Q FRIPI , NIRAEER BIF ¥ GRIAN ? 36) g+aR = ?
A) 4@ A) g1
B) qugl B) sqg
C) gqd C) g
D) aiig D) gae
32) SARYE AIQ 69LE ‘AT 990 FAQ1e R ? 37) SARYE FUQ 6266 'Ag’ 9RQ AJUARIGT IR ?
A) Qg A) @5
B) 2@8 B) aiga1
C) gam C) da
D) ae@n D) g@e
33) IRge 98 Aug S 9eg 599 @9 | 38) 'ZeAI@'- 42 @ NI Y6 QERS @ |
A) 9o A) Zgaqia
B) a¢ B) ag Q6@
C)eie C) aq Qo9
D) aima D) qeqigiay
34) 2I71 6246Q Z6FR 6AIF YR OB | 6QTIES 49T 694 IR 39) FINYS AP 69LT 'AGY IRQ AR F9 g6L ?
49 266 ?
A) qan
A) 291 B) qqigl
B) aid C) saa
C) agere D) &1
D) ga1

40) FORYS 99 F1UIQ 6RRG 9 AR FEAY G6u?
35) ' (1Q IgQ A°YE I K 629 ?

A) €18
A) q B) aae
B) ¢ C)as
o= Techofworld.In o
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41) ‘98 @@ Q2 YIRS’ QRGa 2d @' ?

A) 98 Q890 9% @Al
B) ag1 Q4@
C) dagial

D) q¢ @@l TeChOf

42) ‘6QlIR0I C1IQ IY 629/— 9RINTR 28l @' ?

A) 2AAIRG QA B9 AIGIQ)
B) 200156 @da!

C) aaie @aQl

D) @@ @dal

43) 99IQ QIQIF1 FITN — 60FITE 9T ‘Y 679 0B ?

A) ogelt
B) aa1

C) goral
D) agan

44) GIRYE 99 AUQ AR 995Q 526 @A |

A) UGG,

B) am cQ
C) qat Qe
D) Q&1 Qal

45) 399 99 — 6QHIFE 99T6R 699 Y0D 6419 62IRE ?

A) ol
o= Techofworl
D) gotal
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Section 6 - Paperll-Mathematics

48) The angles in a triangle are in the ratio 1:2:3. The
largest angle in degrees is

A)
B)
C)
D)

90
50
30
40

46) ST 601 Q1 6R1é 1:2:3 2Qaie 60 28 | B9 60 99019 @@
6RET 2691

A) 90
B) 50
C) 30
D) 40

47) At what percentage rate of simple interest per annum
will an amount of money double in 10 years?

A) 10%
B) 25%
C) 20%
D) 12%

47) Qi@ 6968 QGEe AaR QuER AT aaaIea 28 10
Qg6a QR 6297

A) 10%
B) 25%
C) 20%
D) 12%

48) Equation of a circle which passes through the points
(1,0), (-1,0)and (0, 1) is

A) X2 +y*=0
B) x2+y2=1
C) x® + y2-2x=0

o220 Tachofworld.|

Techofworld.In

N

48) @ 98 Q AA19e¢ Q1210 &9 (1, 0), (-1,0) 8 (0, 1) 621N,
Q2! 265l

A) x2+yi=0

B) x2+y2=1

C) x2 + y2-2x=0
D) x2+y2 + 2%=0

49) If 3(1 - 3x) = -3 (x + 27), then the value of 'X is

A) x= 14
B) x= 11
C)x=<14
D)x=< 11

49) 9@ 3(1 - 3x) 2 -3 (x + 27), 6068 'x' Q MY 62QE

50) 9@ A={3,914}6 B = {123}, 6069 A - B @qIg

A) (9,14}

B) {3}

C) {1.2,3)
) {3.9.14}
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51) If the length of a rectangle is increased by 20% and
breadth is decreased by 15%, then what will be the
percentage change in the area?

A) 10%

B) 2%

51) A% 99 AKGEAQ @ MY 20% @A 6 BAIR 15% KFiIN,
6069 698 60 JGRER 96aRI 6R63 6297

A) 10%
B) 2%
C) 1%
D) 4%

52)

0.085 x 0.95 x 189 _
1.9x0.017 x2.1

0.085 x 0.95 x 189 _
1.9x0.017 x2.1

o« Techofworld.In

53) If set X has 4 elements and setY has 3 elements, then
what will be the maximum number of elements in their
intersection set?

A) One
B) Three
C) Zero
D) Two

53) 696 X @ 4 § QQINR G 645 Y @ 3 G Q9 28, 6669
6QAIRG 689 6906 AR 69601F AAIRIF AFE?

A) 9@
B) &8
C) ge
D) gm

54) What is the area of the square inscribed in a circle with
the circumference of length 161 cm?

A) 256 cm?
B) 56 cm?
C) 128 cm?
D) 49 cm?

54) 161 694769 At Q84 9@ 9@ A66q 2ATE 62IR2YS 9
QG689R QTR 60667

A) 256 4l 6a 4.
B) 56 a6l 6Q 4.
C) 128 edl 6a .
D) 49 g4 6a 4.

55) What is the greatest possible length that can be used

to measure exactly the lengths 6 m, 2 m 25 cm, 10 m 50
cm?

A) 75 cm
B) 125 cm
C) 50 cm
D) 25 cm



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

55) AGRI@ QAR 6344 @'4 Q121 6 §ieQ, 2 fica 25 62§99, 10
deq 50 6adficag 23eq QR AT AR ML 62IR
QIRS?

A) 75 6QF
B) 12566
C) 50 6.
D) 25 6a &

56) 120 kg of an alloy A is mixed with 200 kg of alloy B. If
alloy A has Iron and zinc in the ratio 3 : 2 and alloy B has

Zinc and tin in th ratio 1 : 4, then the amount of zinc in the
new alloy is

A) 88 kg
B) 66 kg

C) 44 kg
D) 22 kg

56) 120 caGa @ FguIg Asa 200 628 99 fguig B fge
QAR LT Fig] 21 AR 6MIE 9° FEQ 2GS 3:2 9.° fglg
B6a §& ¥&° TEa 2gaIe 1:4 6969 Qo7 ¢ dIg6a & @
Qa8 6208

A) 88 6aF
B) 66 ea&
C) 44 6aq
D) 22 ea&

57) If selling price of a product is doubled, the profit triples.
The profit percent is

A) 100%
B) 25%
C) 50%
D) 200%

Techofworld.In

57) 9@ 69N AKIgIa Sge AN YRGS 6RARAN 696Q IRIQ
AR 38 T91 AVR ISHS 62RF

A) 100%
B) 25%
C) 50%
D) 200%

58) What is the least number that should be added to
2558, so that the sum is exactly divisible by 6, 5, 4 and 3?

A) 12
B) 22
C) 2
D) 4

58) 255860 ASRE] 60@ QWY 6LI9 QAICER ITIQ CAIGTR
6,54, 49° 3 TIRI Q¥4 VIA6R FRIFY 6297

A) 12
B) 22
C) 2
D) 4

59) If 3V(3x + 1) = 15, then the value 'X is

A) 5
B) 6
C)8
D) 7

59) 9@ 3 V(3x + 1) = 15, 606Q X' Q F)mY 6208

A) 5
B) 6
C)s
D) 7
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60) In a bag there are four coloured toys Red, Blue, Yellow
and Green. Of which Red, Yellow and Green coloured
toys areintheratio4 : 3: 1. If the sum of numbers of these
3 coloured toys is equal to Blue coloured toys and sum of
Green and Blue coloured toys is 450, then the numbers of
Red, Blue, Yellow and Green coloured toys are
respectively

A) 150, 300, 200 and 100
B) 200, 300, 150 and 100 I eChOf\
C) 250, 300, 150 and 50

D) 200, 350, 150 and 50

60) 691" QUIGER MIW, AR, LRI IL° AT, FIR QTR SRS
QER| 64 F1IQ AR, YRTLl ° AR QPR 6%idl 4 1 3 1
2901061 Q28| 98 Y@ GF QFQ 631Rd IR AN 1@ A
6SREI Q°GlYl QA2 QAR 99 ¥Q° AR Y9° Q1R QAP CHREIQ
Q°FYl 450 606Q AR, V1R, AT YQ° A ATR 6T G|
Q2REQ 62T

A) 150, 300, 200 4<° 100
B) 200, 300, 150 4g° 100
C) 250, 300, 150 99° 50
D) 200, 350, 150 9e° 50

JoinUs-' > f
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61) The country from which Indian Constitution borrowed
the concept of “Speaker in Lok Sabha” is

A) France

B) Belgium

C) United Kingdom

D) United States of America

61) RIRGIS AFRIINER "CRAIRANGR AT 609 6QQ TS
62IRg

A) gig

B) sen@aq
C) geaisy
D) geqig Zsras!

62) Magadha an ancient Indian kingdom, belongs to which
of the following states in modern India?

A) Uttar Pradesh
B) Allahabad

C) Bihar

D) Ahmedabad

62) AIGl VIRGR IR YRISR QIFY | RLAS AAAER 92| 79 ARIQ
6RQ QUIRYER AET?

A) aRg6ad

O

)

B) gl
) Ggla
)

Q
&

@
D) gecQiie

63) What is the time line to conduct elections to Panchayat
in case of dissolution?

A) Within 3 months
B) Within 1 month

C) Within 6 months
D) Within 9 months

63) Qe 6291 6896Q UEING6A FFI0a 2qEe 6291Q ALK
@€

A) 01 fea

B) equa quea

C) va1q axea

D) ¢ qua a6

64) Which among the following clouds are present at the
highest altitude?

A) Cumulus
B) Stratus
C) Nimbus
D) Cirrus

64) GIAYE AUQ 6% NI 694 ACRITST IR6EE EIYRIG
didelra ?

A) Quanq
B) aicq
C) daq
D) dagq

65) Which of the following parties came to power in Britain
at the end of second world war?

A) Conservative party
B) Democratic party
C) Labour Party

D) Republican party

65) 3010 GYYR A6Q G6Ie AR 629 @7 G6RREa BAAIg
21dmI?

A) QEcete 9IF

B) sesrigitq aIe
C) eneq Qi
D) dageig aif
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66) Which of the following is the outermost rigid layer of

68) 2015 (990 RGINQ Q@ 2ARVL RIS  EREQ
? ' a - o
he:Earthi Flima| 2L QRS LEE AR " ENIES LIl ' 66 QEIER
A) Hydrosphere gIe 629 ?
B) Troposphere _
C) Biosphere A) 39 gia
D) Lithosphere B) Gag
C) cormea &g
66) 67118 AUQ 6966 QES1R QI9Y, R60IA 2072 D) 2i0eq aal 621 Q12
A) 2IR6gAaa
_ 69) The queen and other royal ladies of Rajput's
B) scica@ae immolated themselves to escape dishonour at the hands
C) Qieai@aa of enemy in case of defeat. This is known as
D) fsa@aa A) Jamal
B) Jahar
C) Jauhar
67) What is the name given to the well where many people D) Jamin
perished when they jumped in, to escape the bullets at the
Jallianwala bagh tragedy?
69) dQIeg 6896 g @Ieea QARG £2991Q Al dinl A
A Funjsowell AIRYERIATR QT ¥8° 2QY QIERIE AERIFIE Geg @2
B Maryrsavell QegeRl gl QIR6R G4l
C) Patriotic well
D) Amritsar well A) g9l
B) gea
67) SRARIGIN U FALYL, ANDER 699 YUY 68N I AHI C) solea
6AIR gIE LQIRCER SI9IQ G6RIe AR AR A1 geIR D) ediq
QQUAIRERI?
A) el @ 70) How many women members were there in Constituent
Assembly to draft Indian Constitution?
B) aete g2
C) 62469911 42 g ;‘g
D) afjeaq g2 C) 12
D) 20

68) As per the IUCN Red List of Threatened Species

2015, 'Red Panda'is grouped under which of the following 70) QIa9Ie ARG FOI 990 @289l AR RIS ARG
categories of conservation status?

£RERRE AERI AQQY gem?
A) Endangered

)
A
B) Extinct ) 10
C) Extinct in the Wild
)

B) 15
D) Not evaluated

C)12
D) 20

Tarhnfiwnrid In
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71) Which among the following options is the main cause
of soil erosion?

A) Mulching

B) Deforestation
C) Afforestation
D) Reforestation

71) GORGe FREgER MIQ 6ed SRET (ael 8OR 8
Qa8 26T ?

A) 715 Ag6a 2Iea8
B) s qi4

C) aq1aed

D) gas 91094

72) What is the time difference between each degree (1°)
of longitude?

A) 15 seconds
B) 6 minutes
C) 1 hour
D) 4 minutes

72) 1° QIEIR A9 218QIR 6562 6RIFRIN ?

73) Fundamental Duties of citizens were added to the
Indian Constitution by the 42nd amendment in the year

Join Us-

R T PP

73) QAR AAIFER FEGRNINSR F1Re QY ¥ 96
QEARINER AYS 6LIRR 32l 6a

A
B

Cc
D

) 1967
) 1976
) 1987
) 1957

74) The discontinuity between the crust and mantle is
called as the

A) Guttensburg discontinuity
B) Conrad discontinuity
C) Moho discontinuity

D) Lehmann discontinuity

74) QRaQ @08 QITY 2°¢ 4e° 2IQAE F1216R 29 IFAIG @'¢
QRITN?

A) geegad Igaol
B) 6qiqic 8320
C) en162l SRR

D) emeeuig @ga3!

75) If the time of a place 'A" at the prime meridian is 3.00
PM, what will be the time of a place 'B' 15° east of the

prime meridian?

A) 4:00 PM

B) 5:00 PM

C) 2:00 PM
)

D) 1:00 PM

75) 9@ QIS FUTE 6Q% AU 'FALR AOL AAXE 3 99,

6069 15° Qe Felde qc'SGGI 2N 2R YR AIY 'SI'Q Al 6R6Q
ST

A) 2012 4 ¢
B
C) aigqug 24!

)
) gaqig 56!
)
D) zaqug 1
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Section 8 - Paperll-Science
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76) Fe(s) + CuSOs(aq) — FeSOas(aq) + Cu(s)
The above reaction is an example of a

A) combination reaction
B) displacement reaction
C) decompostion reaction
D) photochemcial reaction

76) Fe(s) + CuSO.(ag) — FeSO.(aqg) + Cu(s)
08 YOG @ QA QLR

A) L6LIg goT

B) Gare gaqal

C) zaace goaal

D) zlcnia 0QIge 96Gal

77) Read the following statements and choose the
CORRECT option.

(i) A genome is an organism’s complete set of RNA alone,
excluding all of its genes.

(ii) Each genome contains all of the information needed to
build and maintain that organism.

A) (i) is TRUE and (ii) is FALSE
B) (i) is FALSE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is TRUE and (i) is TRUE

77) G¢] a3gee 93 6 90R a8 90U 993 |
(i) 4@ F6RIF 620 6915 F19Q ZIGIFIR A4 646 6IRYER
1210 FRgER 29gs QeI |

(i) Y654 FERIFER 69T Q1RQ FI0R B AVE 6V FTUER AT
e 2N |

A) (i) 6228 0= 6 (i) 6208 gm
B) (i) 6208 gm G (i) 628 ga
C) (i) 6208 g 6 (i) 6298 O
D) (i) 62@@ O G (i) 6298 O

78) The densities of two substances are in the ratioc 2 : 3
and their specific heats are 0.12 and 0.09 CGS units

respectively. The ratio of their thermal capacities per unit
volume is

A) 03:02
B) 01:02
C) 08:09
D) 04:09

78) Q06 09lde 99Q AgUIe 2:3 ¥e° 627 IPwa FFIAe Qald
Qelgea 0.12 9Q° 0.09 CGS AT 6ATRTA AIVSRR GEMHR
98¢ 481 Q101 SO QIS 6998

A) 03:02
B) 01:02
C) 08:09
D) 04:09

79) Which of the following options are CORRECT
regarding the usage of baking soda?

A) It is used as an antacid

B) It is used as a cleansing agent

C) It is used for making soaps and detergents

D) It is used for removing permanent hardness of water

79) 6096 64IB10 HILIQ AANER FOFUQ 699 Faad O

A) 921 IR 2I9ITe VI USTIQ FEULIN

B) 2l 9@ AT 2891 1694 VIS QYETIQ @AIAN

C) Qg 6 30604 GTIRER I2IQ MSTIQ FAUAI

D) \2ig §99 I 60106 2TIRQ! IR LR KRN

80) Which of the following options represent the
CORRECT shape of mitochondria?

A) Sigmoidal or cuboidal
B) U-shaped or cuboidal
C) Square or rectangular
D) Sausage or cylindrical
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80) INUQ 604F AIRECIRERIR A0W 2IRIY IPIREIN?

A) daede A9 219eAR 2R
B) g-2Iei6a &9 219590RIR
C) ediria QI 2RSIRIR

D) qeag QI dnea 2I9Ga

81) The shear modulus of a liquid is
A) zero

B) infinity

C) unity

D) may have any finite non-zero value

81) IR QR UK AYRd1a JIIS 6298

A) gay
B) 2am
C) wq@@

D) eqled 2161994 Q17 R 621G

82) In the process of cell division called mitosis,
Chromosome condensation occurs during which phase?

A) Telophase
B) Prophase
C) Anaphase
D) Metaphase

82) FIRESIEY QIFIR 6218 SRITE YTU6R, 65I6F16RIC L°ARe
6RQ AYINER 992

A) coERIETS
B) egecra
C) aiqieare

D) eniciears

WtsApp/Call- 8596976190

83) Generally, which among the following options is the
cause of nappy rashes and vaginal infection?

A) Clostridium Botulinum

)
B) Campylobacter
C) Yeasts

)

D) Protozoa

83) ARIREIGS, GF FREgER IR 699 QIR G699 6291 G
6KIREQ °GAEIQ FQE?

A) 6QI18080 6R1gMae
B) quiffemiuiqe

C) o
D) egieciesiel

84) Read the following statements and choose the
CORRECT option.

(i) The stems of aquatic plants are very short, solid and
heavy.

(i) In aquatic plants roots are much reduced in size and
their main function is to hold the plant in place.

A) (i) is TRUE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE

D) (i) is FALSE and (ii) is FALSE

84) G¢ @29Ee deg 6 A0R 598 OR 20 |
(i) 99F QEQYEaa RIEYER 990 6810, 99 6 BaRel |

(il) PA% ABYER 600967 922 6815 RN 6LIRLIREIN 8
62719 QMY Q1Y 2l Q80 69N AINEA 28 QS |

A) (i) 6208 09 6 (i) 6298 @R
B) (i) 6208 9 G (i) 6298 Ox
C) (i) 6208 0% @ (i) 6298 0@
D) (i) 6208 @ G (i) 6298 am
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85) The shape of the curve representing the relation

between the speed and kinetic energy of a moving object
is

C) straight line with negative slope

)
B) parabola
)
D) straight line with positive slope

85) 1R G919 9ga 699 ¥9° d0 98 Fea AARa 9oheQ
Q2R IR YVIR IR 629 F

A) a9a
B) 2agqe®
C) eqlpne 9g1d 92 A 6ad
D) q@iei0a 99I& 92 A9% 69l

86) Which among the following options is converted to

alcohol in food production by fermentation process to
make yoghurt, and cheese?

87) 5 6a6 @ga 98 9@ a9id 10 kg m/s 6996 6IF @98 |
10 63608 Gase AQlEd Qd6a 6F Qe @a6a 0.2 N QR

Ayalines Te C h OfWO rl d . | ngem\g QORI ¥LIR S5F 9260 9F c2ad

A)381J
B) 4.4
C)28J
D)32J

88) To break a wire, a force of (10"8) N/(m”2) is required.
If the density of the material is 3x(103) kg/(m*"3), then the

length of the wire which will break by its own weight will
be

A)3m
B) 340 m
C)34m
D)4m

88) 6915\ GI0G SIFS AW (1046) N/(MA2) 9F AILENRI 9&

A) Fats A8 99a AFS 3x(1073) 61G/(MN3) 6069 &8 6Fe TR
B) Vitamins QTR IR 6364 629
C) Sugars
D) Proteins A)3m
B) 340 m
- e . - B ¥ C)34m
86) Qr)F1UQ 66 IRE 6LICF 6 6801 GEIR AR AIa @Ee Jadl
9 I QYGER ANRLRG OPAN? D)4 m
A) auig (9@)
o 89) Read the following statements and choose the
B) Geidie CORRECT option.
C) el (@éa\) (i) Usually a Cactus plant grows very short roots that give
support to the plant.
D) egi@a

(i) A Cactus stores water in its thick stem.

87) A body of mass 5 kg is moving with a momentum of

A) (i) is FALSE and (i) is TRUE

10 kg m/s. A force of 0.2 N acts on it in the direction of B) (I) is TRUE and (ii) is FALSE

ir:cmon of body for 10 s. The increase in its kinetic energy C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (i) is TRUE

A) 3.8J
B) 4.4

o250 Techofworld.In
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89) 07 @@gea 9eg 8 20X YRT 9AR A0S |
(i) ARIREGE 63T R FBR 699 IS 6215 AN QIR 98]
ARl 6QR2IN |

(ii) 6615 QIQA T8 ITIR 6FIISI RIFEQ 7 A% K8 QeI |

A) (i) 6298 @ G (i) 6298 0@ .
B) (i) 6228 0@ G (ii) 6208 gn Te Ch Of
C) (i) 6208 g G (i) 6298 gn
D) (i) 628 O G (i) 628 0%

90) A stone of mass 2 kg is projected upward with kinetic
energy of 98 J. The height at which the kinetic energy of
the stone becomes half its original value, is given by
(Given, g = 9.8 m/(s"2))

A) 5m

B) 0.5m
C)25m
D)1.5m

90) 262G Q4R G99 9q 920 98 J 950G 9869 QKaq Te SRl
696 APVIER J2AA IG5 §@ LR 6Flhe IR 2EED 629
QI9I 626& (UG, g = 9.8 m/(s"2))

A)5m

B) 0.5m
C)25m
D)15m

Techofworl
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